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Project Management (2018505A)

- All questions are compulsory. (aft w1 sifvart )
- Marks are mentioned on the right side of each question. (s @t wsr % 31§ 3R sifera foma 7))

Group (A) (77 -1)
Q.1  Choose the most suitable answer from the following options. (1*20=20)
(wariferss s fererea @t gem fored|): -
i. The earliest method used for planning of projects was:
(whrsrTat i AT S % g T St ST aTeft we et fafe oft)
(a) PERT (b) Milestone chart (c) Bar chart method (d) CPM
(i) (AT =) (e =né fafer) (efrfrem)

ii. The process each manager follows during the life of a project is known as:
(e wfeEismT % St & SR Teish Teiereh o Ifsham o1 ITei Rt €, S el ST 2:)
(@) Project Management (tlﬁ'iﬁ\_rl'rﬂ USeH)  (c) Project Management Life Cycle (afeism wsiam sfia =)
(b) Manager life cycle (QHWG?[EFIW (d) All of the mentioned (3fcafaa @)

iii.  Which of the following is the term that describes the amount of time taken for a capital budgeting project
to recover its initial investment?
(FrafeTied 7 & %19 |1 3168 2 ST U arste TRETSHT o fTg 319 WK o=t 3 I3 il § @ aTel @Ha o1 U HidT 87)

(@) Investment period (b) Payback period (c) Redemption period  (d) Maturity period
(GEEIEEID)) (= safer) (sromfr smate) (afraerarar s1afy)

v. Capital budgeting decisions are of: (4sfrma ssr fiofa 2 &)

(@) Long term nature (b) Short term nature (c) Both of the above (d) None of the above

(Srefeprefi s ) (areushIet THfd %) (I F 3) (30 @ =15 oft 1)

V. A sound Capital Budgeting technique is based on: (t 3w dsit ate qeiieh i 2:)

(@) Accounting Profit  (b) Interest Rate on Borrowings (c) Last Dividend Paid (d) Cash Flows
(craT @ W) (3am W = ) (fcr SR T W) (Tt vETE W)

vi. A project may be regarded as high-risk project when:
(e WS st o SHfEH aTeft IREISHT JHT ST ekl © 974:)
(@) It has smaller variance of outcome but a high initial investment
(zert aftomms <1 fereror Sier g1 & Afsh wrfires faer siferes g 2)
(b) It has larger variance of outcome and high initial investment
(zE wftoms st s foreror o7t 3= e fiomr 2)
(c) It has smaller variance of outcome and a low initial investment
(zE wftoms &1 Ster foreor it wm yrifies o 2)
(d) It has larger variance of outcome and low initial investment
(3= wftomy & s foreror 37t e e free 2)
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vii.  Critical activities have: (frfesrar ufefds §))

(@) Maximum float (b) Minimum float (c) Zero float (d) Negative float
(atfrRam were) (7 wwR) (3 wAre) (FFerRTCHe edTe)
viii.  What is PERT analysis based on? (PERT fasywur ferg wt smrenfa grer 27)
(a) Optimistic time (b) Pessimistic time (c) Most likely time (d) All of the above
(et Tm) (FrreTradt s (g =) (37 =)

iXx.  What happens when a project is scheduled by CPM?
(R BT & e Ue ufEer Hidftem g freffa i S 87)
(@) A project is divided into various activities
(e wftsmT = ot nfafafemt & fofee foram mr ?)
(b) Required time for each activity is established
(srres Tifafarer 3 fore travares wmer Tonfua feram o 2)
(c) A sequence of various activities is made according to their importance
(Farfire ittt 1 st 3o Weea o STTHR SHHRIT ST 2)
(d) All of the above
(3w )

X. The full form of PERT is . (PERT =1 qvf & 7))
(a) Program Evaluation and Rate Technology (s qeais iR & i)

(b) Program Evaluation and Review Technique (srisw seaisT STk witer deie)

(c) Program Evaluation and Robot Technique (srisew seaisT ik Teie qeieh)

(d) Program Evaluation and Robot Technology (et 3R tsite Srenfieht)

Xi. Balance Sheet shows: (e w i 2:)

(a) Financial position of a Company. (us sut i faier ferfe)
(b) Profit or Loss of a Company. (fereft shut =t @mr = 1)
(c) Cash flow of a Company. (us sut st Fehdt Jarzl)

(d) None of the above. (7 & =i «ff 72i1)

xii.  What will be the impact on Break Even if variable costs are reduced?
(e AT 9 B TSI 39 T R TN 9 ?)

(a) Decrease (=) (c) Increase (sera)

(b) No change (=1 ufard =) (d) None of the above (s @ =g ff 7=)
Xiii.  The basic nature of a project is a/an one. (T afEsHT 1 4ot Sl Tk 2t 21)
(a) Permanent () (c) (@) or (b) ((|) =m (7))

(b) Temporary (steemft) (d) Both (a) and (b) (3T (u) 3k (sf))

xiv.  Which of the following statement(s) is/are true about a Project? I. It brings change Il. It has risk I1l. The
outcome is certain

(v ufisT o o) & Frefafed & @ &9 @1/ wua a3 2/2? 1. =g afeds @ @ 1. so8 sifaw 7 11, afom fifim 2))
(@) lonly (== 1) (b) 1l only (== 1) (c) land Il only (I s Il =) (d) 11 and 11 only (I i HI %ae)
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Xv.  What are the key components in the "Triple constraint Triangle"?
("fouer dEge T W W A § 7))
(a) Scope, Schedule, Cost (b) Scope, Time, Cost  (c) Time, Money, Scope

(e, STE=, ) (w=hra, T, ) (v, B, =)
xvi.  Analyzing consumer grievances is a part of research related to ___.
(IoirepaT TRt s fererereor ¥ Heifr STFHUT T U AT 21)
(a) Price (q=9) (b) Product () (c) Promotion (y=m)
xvii.  Qualitative information can only be __. (omress STt et )
(a) Observed (b) Seen (c) Measured
(STaciieh it ST et 2) (et =TT Tkt 2) (mmt ST HeRT R)

xviii. There are two concepts of working capital — gross and .
(Priefie it i a7 STaremomd § - wehe 3R )
(a) Zero (=) (b) Cumulative (s==ft)  (c) Net (<)

xix.  Which of the following is not a source of working capital.
(Frafafiga & & @ wrizfia dsft &1 | 7= 21)
(@) Commercial paper (b) Bank overdraft (c) Discounting of bills
(anforfsares o) (5 sTratgT®R) (foret 3 +TTS)

(d) Time, Schedule, Money
(5w, s, )

O !

(d) Behavior (sr5r)

(d) Touched

(g2 s @Rt 2)

(d) Distinctive (fafzre)

(d) Unsecured term loans
(vrecre wrafer 1)

XX.  Activity in a network diagram is represented by? (feas s # nfafafer forass gro wefifa 6 St 27)

(a) Rectangles (strrmem) (b) Arrows (<) (c) Squares (w=mR)

Group (B) (za +)

(d) Circles (af)

Q.2 Define Project. Discuss its types. 4
(RS BT TieATIvG ShITSTY) 6ok ST sht =it shiforg) )
OR (sreram)
Discuss major factors which are to be considered in screening of project ideas. 4
(SIS SR o WhIFT § S5 7@ St T T o S 8, S o == #)
Q.3 Define demand forecasting. Elaborate different techniques of demand forecasting. 4
(mi watgaT whr afearfya Aifsrg) AT qatqam #i fafie aetet @ vl i)
OR (steram)
‘Market research is the key to success of a company’. Discuss. 4
(‘oS wivey foReft shoeft <Y wheraT ST it &) < shif)
Q.4 Write a brief note on Break Even Analysis. 4
(3 = fors3wor T u wiferw feouoft fafia))
OR (steram)
Describe work break down structure in project management. 4
(FFST e | S TS ST 1 vl i)
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Q.5 Define capital Budgeting. Discuss its importance. 4
(st arstes =it wfewTfia hif) s@e weca ot foremm it
OR (31eram)
Define cost of project. Figure out the major cost of a project. 4
(ST St AR T ARt IS T aRESET T S AR S 9T o))

Q.6 Describe different stages of project life cycle. 4
(afersr Sfrar =rsh o farfir=T =ron s afa )
OR (sreram)
Define project ideas. Discuss the ways to generate project ideas. 4

(REETSTT foram T qRCATING o] TS forT i e 3t o qiiehi T€ == hil)

Group (C) (v - )

Q.7 Define profitability. Discuss major factors that determine the profitability of a project. 6
(v =t i Q) 37 S Rehl W == R S R afErsT i e i i war El)
OR (areram)
Define benefit cost ratio. Is a high benefit cost ratio good? Give justification. 6

(T AT ST ShT TICATST AU AT 3T SATH AT ST ST &7 38k SAMfercd 1 Jui sHifor|)

Q.8 Write a note on working capital requirement for a project. Locate the various sources of working 6
capital.
(Foreft st o fore rfefier Osft i sTrarvaear T ue fevmft faftaw) wriviiar 4ot & fafim |t =1 for)
OR (sreram)
Describe PERT. Discuss its advantages and disadvantages. 6

(Tt i1 i ) < T S R B < i)

Q.9 Explain social cost benefit analysis. Describe its element. 6
(wrefres SrTa T faseor it saRe fifsu) 36 doat 1 avid shiferg))
OR (steram)

Briefly explain the acceptance and rejection criteria of a project in NPV and IRR method. 6

(wAdieft 3 sTgeTReTR wgfa § ot afer it wiefa o swedfisla THde *i Hay § aremsy))

Q.10 Define pay-back period. How pay-back period is used in decision making regarding a project. 6
(-3 srafer w1 ufewfya s TRt afEiemT % deiy § fola o9 § 9-3e s1afir s swim 34 foram Smar 87)
OR (steram)
Describe network planning. Explain its steps. 6

(Heareh weTfT ST Ui Y SEek =T St SRE hifs))

Q.11 Define CPM. Discuss step by step process of using CPM. 6
(efrdfrem =t afeerfiya sifse) CPM 3 Sui st <wor ot = ufshar o == i)
OR (steram)
Define project scheduling. How it can be beneficial for a company. 6

(St e et afeTiiy ) a1 forelt ot 3 foTe & wrIeHe &1 wekar 27)
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